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I nstructions to the candidates:

1) Question No. 1 & Question No. 6 are compulsory.

2) Solve any three Questions from Question No. 2 to Question:No. 5.

3) Figuresto theright side indicate full marks.

Q1) Fill inthe blanks by selecting suitable choice (any 6 out of 8): [6]
a Alfred Weber was published book.

(Wealth of Nation, Theory of theiw oeation of Industries, Employment,
Intrest & Money, Communist Manifesto)

b) adistinctivebranch of economicswhich study with Economic
Problems of Firm &:lndustries and their relationship with the Society.

(Business Economics, Labour Economics, Micro Economics, Industrial
Economics)

C) __ isaeographical factor affecting the location of the Industry.
(Government policies, Capital, Banking, Raw Material)

d) Sergeant Horenceisemphasizesonthe Factor of liberalization.
(Localization, M echanization, Labour, Production)

€) ' Labour Productivity is the total product divided by
(Used Labour, total Finance, Labour hours, Production)

f) __ istheratio between output and Inpuit.

(Industrial efficiency, Industrial output, Industrial Productivity, Industria
Finance).

g) In 1972, the Industrial Sector was relaxed to

(Trade Policy, Finance Policy, International Policy, Licensing Policy)
h) Industrial Productivity (P) =

(Sales/Price, Quantity/Quality, Output/I nput, Input/L abour)
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Q2) Definethelndustrial Economics. Explain the scopeand significance of Industria
Economics. [14]

Q3) Define the Industrial Location. Explain the Sargeant Florence's theory:.of
Industrial Location. [14]

Q4) Define the Industrial Productivity. Explain the factors affectingto Industrial
Productivity. [14]

Q5) Define the Industrial Policy. Explain the Trends in.Industrial Growth since
1991. [14]

Q6) Write short notes (any 2 out of 4): [12]
ad Industrial Monopoly:
b) Causesof Industrid Imbalance.
c) Typesof Industrial Productivity.

d) " Needfor foreign capital.
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g.1) @ vaiarh fee wEa Maeesn S /W@, (8 Siurrgt 6) [6]

) SRS IARAT ..ovvvvreennnnn, BTETR TR hed.

(TR wud, SitEnfies TR g, U, S a Ui, SR i)
1) TR B AV Ueh I8 WIRET 317, S I2NT o ST ATl

(caTerTRIeh STSIREy STaTe S1IVITE, HeH SIeivTre, aitenfie stekvme)
11) JOSORRRRIO B 3NENTTeh TR TRUMH SFUTRT HiTifeTeh T2 3.
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Vi)  STIEH TEHISH SFHUTR UTRR THIOT FgUT ..o .

Vii) 1972\ TR &1 .o 3 frfere o
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Y.2) sirenfires i sawen anm. sienfie stefymeh st g ugm e . [14]

¥.3) siteifires wumfATvad= saren |, arie wiR-a aren sitefies v Rg
T . [14]

T.4) Sirenfires Scatgehd=l SamEan WM. 3ienfirh Scargehdar URume HHuR g2 T8 o.[ 14]

Y.5) sitenfien gomit e arm. 1991 urggt sienties diget Jet s . [14]

¥.6) few fermr. (4 &R o 2) [12]
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g) | Tl wisae=i SEvEeRan
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